
 

 
 
Item # | Product Name:   #300107 Wave Armor Dock Kayak Rack 
 
Parts List: Tools Needed: 
1.  Kayak Rack Arm (2) 1.  Silicone Spray (optional) 
2.  3/8 x 3 ½ bolt (2) 2.  Mallet 
3.  3/8 washer (2) 3.  Ratchet 
4. 4. 9/16” socket 
5. 5. 
6. 6. 
7. 7. 
8. 8. 
9. 9. 
10. 10. 
 
Assembly Instructions: 
 
1.  Determine the proper spacing of the arms for the Kayak Rack based on the length of 
your kayak.   Slide one arm of the Kayak Rack into the H-channel on the Wave Dock.  
Using silicone spray will help it to slide in easier.  Slide it in until the stabilizing plate 
hole lines up with one of the bolt holes on the dock.  Secure with the 3/8 x 3 ½  bolt and 
washer. 
 

 

 
 
 
 
 
 
 
 
 
 
 
 

Slide arm onto the dock 
until the holes line up. 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
2.  Slide the second arm of the Kayak Rack into the H-channel on the Wave Dock until 
the correct  spacing is achieved and the hole in the arm and the dock line up.  Secure with 
the 3/8 x 3 ½ bolt and washer.  The arms may be spaced at whatever distance is required 
to fit the length of the kayak or kayaks. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
3.  Store the kayaks on the Kayak rack upside down and secure with a stretch cord using 
the molded in eyelets in the arms. 
   

 

Slide arm into 
hole in the deck 

Secure with the 
3/8 x 3 ½  bolt 
and washer. 


